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Cokibtl -~ ZHmE 1:3 (-6,-8,11,-10)

Ak - X ERE 3:1(-7,10,7,7)
B 754 - Y SAEH 2:3 (-10,6,-6,6,-4)
CHER -~ ZHBK 3:0 (2,8,9)

ARBE - XBOE 3:0 (6,4,8)
B #HDkiE - Y filli 0:3 (-9,-4,-9)
CHralt -~  Z R 1:3 (-5,8,-5,-6)

ABSHE -~ Xak#EfE 3:0 (3,4,5)
B &R - YRR 0:3 (-2,-9,-8)
C W& —  ZkiFst 3:1(9,-8,12,9)

ABER - XERE 3:1(8,6,-11,8)
B Rizdli - Y ERH 1:3 (8,-6,-5,-7)
CHlZ -  ZRBEK 3:2(8,-5,8,-12,9)

ALK -~ X B 1:3 (-9,-5,5,-6)
BUEkEHE - Y M 1:3 (-4,-7,2,-4)
CHER —  ZERH 3:0 (3,6,6)

ABbs o XRkiE 1:3 (-9,6,-9,-8)
Bl - Y MFHE 0:3 (-14,-3,-3)
CiMVRHE -~ ZHE= 3:2(-9,-8,8,10,4)

AR - Xk 3:0 (4,3,7)
B flEPH - Y REUE 0:3 (-7,-5,-2)
CokEtE -~  ZFRaH 3:2 (7,-6,-4,10,10)
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